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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

What is a Research Design ?

e AT 7 B 7
Options :
A way of conducting research that is not grounded in theory.

| 9T T =H1 Ueh oelehl, = [esid 9¢ AT o =7 |

The choice between using qualitative or quantitative methods.

5 3 JOTHE A THTOTHS TE a9l & 3UANT & 959 g |

The style in which you present your research findings e.g. a graph.

g% S fEE A e e | B W S &g E - 3T |

3. %

A framework for every stage of the collection and analysis of data.

" HFHST & Hebad AT G999 & UE Y H [0 U BT |
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Question Label : Multiple Choice Question

The study design of collecting data at a particular point of time is called :
[FE1 9T 999 O 97 ATHs HIBU I Il ASEE AR BRIl
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Options :



Cohort study

%

HEA0T g (FEE =El)

1. =

Trend study

EISEeEIpE

Cross sectional study

, =T q (FHFRE) a9

Longitudinal study

Lx T Je= (SrdeRIfeTer) A=EE
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Question Label : Multiple Choice Question

The value of middle position in a distribution of values is called :

=

qHei & [gaver § 799 i B0 "9 FHeal 5

Options :
Mean

1. % =

Median
5 o TR



Mode
23 = :_5|;F1I'E

3.
Mid-point
L % HE-dg
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
In order to pursue research, which of the following is priorly required ?

9 I AN Fo &% [0, EEfangd § 9 [FEsl 989 STEsgeddr Bl

8 !

Options :
Develop a research design
| % S SATHETT F fahE

Formulate research questions

5 o ST TEST BT Ao

Deciding about the data analysis procedure
y » GAHST 8090 uikar & 9 | UE

Formulating a research hypothesis

, % S OHERTIET HHET HIAT
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the IG]IG‘MHE is a basis of the quality of a research journal ?
Te=TfeTiET H | e g 9i=e # OEwn B AN D 5
Options :

Impact factor
| o T T
h-index

g-index
-5

il 0-index

4w 110-ZSFH
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Question Label : Multiple Choice Question



If the population is heterogeneous, which one of the following probability sampling
methods will be suitable ?

AT AT FEaE ®, a1 Heiaiag § § RE-H geear gfasel &iy
AR IUGFT 20T 7

Options :
Sequential sampling
FHHTIHTT A=+

1. ®

Quota sampling
A SERE]

Double sampling

-

‘-'t”_z -.l ﬂri-. ,-q'q;

Stratified sampling
ST afa=4a4
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Manipulation is a part of :

L= =
Uegdd- ......v.... chl [.],'ﬂa = l 5 |
Options :

Historical research

| % UTC=IEs ST



Fundamental research

2. % AlfeT 21

Descriptive research
« dUHTHE 91T

3
Experimental research
4 THEIETE ST

Question Number : 8 Question Id : 59345215255 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
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Question Label : Multiple Choice Question
p-value stands for :

= Ty T =
-9 | 9199 7

Options :
Probability value

| SHE

Preference value

) % LA H

Pre-determined value

| TE-TEIT e



Prescribed value

4, 5
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Question Label : Multiple Choice Question
R” is known as the :

"~

R AT ..., F =7 § AET AT 2

Options :
Coefficient of determination
- =TT BT I[OTiF

Multiple correlation coefficient

TE-FEEH U

Partial correlation coefficient

AN FET= UNH

Semi-partial correlation coefficient

HA-ANNF TS oM
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Rejection of null hypothesis, when it is true, leads to :

ST OERETHT SRIIEd 2 S Sdih T8 JF 2 ..., I NI Ll
Z |
Options :
Sampling Error
1. # PI:TJ '._J]'-._'

Type 1I Error

[
cizd II JId

2. %

Type 1 Error

o TR I e

Estimation Error

« -Bilﬂ_ﬂl-_—l ';]JIFI
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Question Label : Multiple Choice Question

Which of the mllomng is first stage | in Grounded Theory data analysis :

FI"“'_-I'I_FI"'_J'_‘TIT o UT38S ANl @ 3-1I’Jr.r [ ESEE9T & 99H =99 HiF-H1 Sl

ap

Options :



Examination
_ BEAEE |

Open coding
2 W “gf‘:l E"Q_r‘r “I:-"E

Retardation
3 % AT

Comparison
4, % ST

st
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Question Label : Multiple Choice Question

The area of the rejection region for a two-tailed test in comparison with area of the one-
tailed test for the same level of significance will be :

o Tg-g=sig Oderor #r e

Note: For this question, discrepancy is found in question/answer. Full

Marks 1s being awarded to all candidates.
Options :
Smaller

| & A



Same
HHE BN

Larger
TST BRT

One-fourth
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Question Label : Multiple Choice Question

Basic research is :
qifeTsh T 2 2
Options :

Practical and descriptive

Client-driven
5w JTEE-UT

Expands current knowledge
3 o TUAAE T BT T B i

Advancement of technology

4 % JENRTER F 30 @ 91
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Question Label : Multiple Choice Question

The technique in which an individual is presented with a stimulus and asked to respond
with the first thing that comes to mind is known as :

TE A TEH ZiE ® HEA UF Soel 9Ed H Sl 2 AR IRl
e S REET H AR B, I9E 9" 4 ® [0 wE A B, H S

= e
a2

Options :
Completion techniques
IR ERIE7

l. %

Focus groups

Association techniques
o =TT THATE

3.

In depth interviews
Tled Hidlthi

4,

Question Number : 15 Question Id : 59345215262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1



Question Label : Multiple Choice Question
An Independent variable is defined as :
OF o =7 FH 9fEnad AT S e 2o
Options :
Change variable

| THECAeT =Y

Confounding variable

) % qHT 97

Extraneous variable

3 % AT =T

Outcome variable

4 % THOTH =T
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which one of the following statements is false for Research ?
frfatad & § ®E-91 F99 8994 & a0 qom = 7

Options :

Research design is a logical and systematic plan for a research study

AJHEAH ATHR M FASIA F; A0 OF ANk AN TGRS 2

1. ®



Applied research is conducted to solve theoretical problems

, v GEI-aE FEHEAT B BT HIA & [0 AERNE AJEIH HET AT 2

The basic research is also called as fundamental research

3%gﬁrfeﬁaaﬁﬂﬂ—nﬁ”{w STe o1 FH=T AT =

A hypothesis is a statement that is tested for its validity

4 % TSI U B & [STeehl I 1 I A S 8
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Question Label : Multiple Choice Question

A researcher has administered some drug for management of diabetes for 4 weeks in a
group and measured pre and post data for blood glucose level. Which statistical tool will
be used to analyze data ?

UF NGFRdl I UF 998 H 4 99= & 0 qgHE & U999 F A g oadn
S1 B S YA 9 & U9 AW AR & Wl B J199 GhET | Ot SiEST &
sy & fom T

hE ST i3 =1 I99RT =har S 7
Options :
Paired '’ test

AT E-TETe

1.¢

Independent t-test
5 % T T




ANOVA test
3, %

Chi-squire test

ST JEIEOT
4, %
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following is a qualitative variable ?
1 & § ®F UF OIS F7 7 7

Options :
Colour of hair

1. ¢ .E|||:r|' =hl _'FT

Body weight
, w STEIE 47

Body height

P - r
3 % M Hdlg

Percentage of haemoglobin

4 % ETARCTES 1 Afaer
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Question Label : Multiple Choice Question

A researcher should consider which of the following to prepare good research
proposal ?

UF SESAl W F=ST Y IR o9 @i & oo Mererag § " @E

(a) Research question should be novel

9T Uee H4 BT =E0

(b) Research protocol should be ethical and relevant

HATHA UIerEpe Hids AT AEHEE BET =l

(c) Research question should be interesting and feasible
S UsH RBo=ed 3T =gsE 5FT FeT

(d) Researcher should consider only his'her own interest and benefit

STIRdl Hl Had ATAT =FH T BT UaH @9 9% G917 FHAT Fiieg
Options :

a & d are correct
L% aATdH2 2

¢ & d are incorrect
, % CHATdTET &

a, ¢ & d are correct



a, b & ¢ are correct

A Ja,b?ﬂ' TcHsl &
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Why reviewing the existing literature is needed ?
HISTeT |Macd 1 GHIE 3 H AEFGTRdT F=i 2 7

Options :
It does not provide references
T= HeHAl Hl U= A&l HLal

1. %

It does not provide required word-count
5 % FATIIIH T TR ol

To find out what is already known about area of interest
v T2 O & U i s & a9 & 9 | usd | #4052

3
To help in non-related disciplines
, x TS fqEAt § "AE w7 & o
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Question Label : Multiple Choice Question
Which one is called non-probability sampling 7

EhY TEHT=AT U= shal Siar 2 7
Options :

Quota sampling

| I giq=aa

Cluster sampling

, x 78 Oia=a

Systematic sampling

s % AT Ui

Stratified random sampling

4 % OPHT AGEEE i
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Random error can be effectively handled by :
AGEsE S Bl ....eeenn.. ST THET B9 F e A S E@ar 2

Options :
Adequate sample size
3OS FAHAT TR

1. ¢



Randomisation

) x TEEHTT

Blinding

| w SAIHTIT

Representativeness

4, ® I
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The correct definition of h index is :

Options :

Largest number h such that h publications have at least h citations
| » T4 FE1 FA h 59 5 h UHEEl § BH H HH h SgEIOT 2

Lowest number h such that h publications have at least h citations
999 ®HH ST h 59 5% h IHe= ¥ FH F HF h IgEEOT B

2. ®

Total number of citations divided by the total number of publications
IEHYON T T EEAT B TR F B AT § TG w9

3. %



Another name for impact factor
o THEI FEE FH T AH

4,
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following is not a reference management tool ?

-

a5 § Hi9 §@ed Ugad 3969 J87 5 ¢
Options :
EndNote

l.

Zotero
Mendeley

- -
3. % HEC

Scopus
~hHIUH
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Question Label : Multiple Choice Question



Mean, Median and Mode are :
A1, A=H] AN G5aF 5
Options :

Measures of dispersion
| s TETOT T AT

Measures of central tendency

Feld Jg T "I
2. =

Measures of probability
s w SHATEEAT FH/ AT

Sampling methods
4w TTCEAT [
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Question Label : Multiple Choice Question

What is the appropriate measure of dispersion to report when median is reported as the
measure of central tendency for a given set of data ?

FOrE 3 & U F=gad & 39ge 39 T & Sfd ’ieIET & Alws! &
U HYE & [0 FEF U9 & #99 F &7 H Uge RA ST B 7

Options :
Standard deviation
| % HEE aEe




Interquartile range
» FATFFAF TR

2.

Variance

3. % A=Y

Coefticient of variance

.

, % TEEEOT B IO
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Open ended group discussion that promotes discussion among participants is
called .............. :

FgaiT (HA99 U2 J9) == S 9iduiiEl & dE" ai=Er B gedl od E,
EBART B evevereerennones

Options :

In-depth discussion

e ==l

1. #

Focus group discussions
, » PIHE JT ==



Participant observation
y x JICTHRT ST

Structured interviews
, % SET AT
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Question Label : Multiple Choice Question
The ability of a tool to correctly measure what it is supposed to measure is called as :

FRET IURTOT/EET &1 THH 3899 & OUA &% [0 UART Bl YEl 2 3%

HE-EE] A1 H &HdT FEan 2
Options :
Validity

ljaaﬁT

Reliability
, w [FETEATEA

Consistency

3. % HTIC

Accuracy
4 23 ?:l_'_':—lr: Y
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

In an experimental study of the effects of time spent on studying on grade, time spent
studying would be the :

IS 97 HHIT H Fdd J99 & TEEl & UF TENE FAEaT J, AT
H EaET T qJ9T BRT G

Options :

Control group

[ndependent variable
5 @ A =TT

Experimental group
O HJHE

3. %

Dependent variable

4 % AR =7
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Question Label : Multiple Choice Question



A reasoning where we start with certain particular statements and conclude with a
universa] statement is called :
U O SRl BH B @9 HEdl § 8% g 5 AR UF HEHHE HET

=

% | ey MeRed 2, el 2 oo
Options :

Deductive Reasoning
| % TTHATHS T6

Inductive Reasoning
5  ATTHATHE Th

Abnormal Reasoning
, % FEMEN TH

Transcendental Reasoning
4w TRTGHAEE T
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Question Label : Multiple Choice Question
If a distribution is described as pl'lt}fl\urllc then it is :
e TTHT [Aavor @ wielgiicd (F9ed FHR[I) & &9 H aid @ S #,
ar s &
Options :
Peaked

=

1. % TICler




Flat
2. & HHIC

Bimodal
3w EIEND
Thin
4, % O
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Question Label : Multiple Choice Question

In a statistical table the row headings are referred to as :
O HivASHE arfass H, 9T Sigei B HET S 2
Options :

Source note

| x 9T ST

Captions

- e (AgeluE)

Stubs
= (T3)



Body
ST
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Question Label : Multiple Choice Question

Which of the following techniques are used to control extraneous variables in research ?
HAIEIH H gEd = B FEET B & oo Meieigg § F W e
W[ ITERT THAT AT E 7

Options :
Change of instrument

CICEEG AN I EG

1. %
Randomization

2 @ NEHIT

Change the research method
AGEE faiEET ° aivacd

3. %

Parameterization

, w TTEIESTE (STHYo)
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Which of the following is the information and library network under UGC ?

TSIEl & dad aiad 5 8 HE-91 21 AR TAdad Hedd 5 ¢

Options :
INFLIBNET
1. v UIEHT

NISCAIR
9 % rl‘-'. Jf-—:l.-"':l {

Association of Indian Universities
3 % HaT [aegiaenaar 1 99

NAAC
4% TP
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
A research tool consisting of a series of questions is known as :
Ul W UH cjEal § A UFH §UT ITHIOT B FHET ST B

Options :
Observation schedule
| x FEACIEA ST




Interview schedule
HIEATRT A

2. %

(Questionnaire

e

3 PEEIEII]

Psychological test

4 s TS e
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question



What does a good thesis involve 7

(a) Reducing punctuations as well as grammatical errors to minimal level.
faeE-T==] To1 =0T FYEdl H FHedqq TT 99 HH AT |

(b) Correct reference citation.
YT Jed 3mA |
(c) Consistency in the way of thesis writing.

AiEd oEs & T H FEd |
(d) All of the three
r fl ﬁ_ =
Choose the correct answer from the codes given below :
A " T e § H @er W g
Codes :
s

Options :
a,b,candd

| v &b, cTATd

a,candd

) a,cdard

a, bandc

S@a,bﬂ"?‘ﬂc



c.,bandd

4 % CbTAT

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks for this question if any of the correct options
are chosen.

Question Number : 37 Question Id : 59345215284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The difference between the expected value of a sample statistic and the estimated value

of parameter is called :

)

-, - -,

THAT ADSI & FAUET o AN UEA ® AJANG god & 9= @ HAWL
Options :

ap

Error

Contradiction
R IR
3. %
Difference

4%
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Among the following, widely used method for extracting factors is :
Tfarad # H, TEH B e & 0 &S T9 H SEEE @ A
i 9 &
Options :
Path analysis

| T ST

Discriminant analysis

% — i
TaYes fgeeaor

Group analysis

Principle component analysis

THE-Ted [geedo]
4073 ’
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question



Study the following given graph and answer the question :
(e b I IR s 2 1 T P = =2 2 o B 1 | e L 2 S o = ) B s s A1 1 LU
1200 —i)

1150 ===

10| 4T )

1050 /] et

1000 |
950 — -
900 . -

850
800

PRICE IN RS

Jan  Feb Mar Apr May [June July Aug
MONTHS

What was the price difference between commodity A and B in the month of April ?
FYUA ® HeA H A A AT B ® I/ Hed I HwL g4 o7 7

Options :
| % 250

, o 150

3 % 100

4w 90
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Study the following given graph and answer the question :

AT OM% 1 He=gd" HIAY 9T 999 H I9L @iy
1200 =i}

1150 —etB |

1050 / et

1000

PRICE IN RS

950 . AN
900 -
850
800

Jan Feb Mar Apr May June July Aug
MONTHS

What was the difference in average price between commodity A and B from April to
August ?
FUA H I T AHIAT A FZ B & HET 99 H HaAr Fe7 91 7

Options :

L% 90

, % 86

L% 9

VL
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Maximum Instruction Time : 0
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Question Number : 41 Question Id : 59345215288 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Agoregate functions can be used in the select list or the .............. clause of a select

statement or subquery. They cannot be used ina .............. clause.
Options :
L% where, having

Vi W
) having, where

5w group by, having

4 % group by, where
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Given the relations EMPLOYEE (name, salary, deptno) and DEPARTMENT (deptno,
deptname, address), which of the following queries cannot be expressed using the basic
relational algebra operations (U, —, X, 7, &, p) ?

Options :

_ Department address of every employee

) % Employees whose name is the same as their department name

3 The sum of all employees' salaries

L % All employees of a given department

Question Number : 43 Question Id : 59345215290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
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Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

The relation book (title, price) contains the titles and prices of different books. Assuming
that no two books have the same price, what does the following SQL query list ?

Select title from book as B where (select count(*) from book as T where T.price >
B.price) < 5.

Options :

L % Titles of the four most expensive books



, % Title of the fifth most inexpensive book

3 % Title of the fifth most expensive book

4 Titles of the five most expensive books

Question Number : 44 Question Id : 59345215291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

The following functional dependencies are given: AB — CD, AF— D, DE — F, C =G,
F —E, G —A. Which one of the following options is false ?

Options :

L AF = {ACDEFG}

) CF = |ACDEFG)

, » BG =(ABCDG}

_ None of three
4. %
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Correct Marks : 3 Wrong Marks : 1



Question Label : Multiple Choice Question

In a B+-tree, suppose that the search key field is V' = 9 bytes long, the block size is B= 512
bytes, a record pointer is Pr = 7 bytes and a block pointer is P = 6 bytes. What is the
maximum possible order of internal node such that a node must fit into a single block ?
Options :

| % 23

2.‘?34

s x 32

4. % 2

Question Number : 46 Question Id : 59345215293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Given that the block size is 1K bytes, record pointer is 7 bytes long, the key field is 9
bytes long and a block pointer is 6 bytes long, what is the order of the leaf node in B”
tree ?

Options :

1% 63

2.\4,64

3w 67



4 % 68

Question Number : 47 Question Id : 59345215294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
If a node is locked in .............. , explicit locking is being done at a lower level of the

tree, but with only shared-mode locks.
Options :
| % [ntention-shared-exclusive mode

) % Intention-exclusive (IX) mode

3 Intention lock modes

4 % Intention-shared (IS) mode
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Which one of the following is a key factor for preferring B+ trees to binary search trees
for indexing database relations ?

Options :

| % Database relations have a large number of records



5 % Database relations are sorted on the primary key

3 % B+ -trees require less memory than binary search trees

4 Data transfer from disks 1s in blocks

Question Number : 49 Question Id : 59345215296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Any relation schema with two attributes alwaysisin ............ :

Options :

| o BCNF

, % ONF

3 % 3NF with redundancy

© 2NF but not in 3NF

Question Number : 50 Question Id : 59345215297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question



Given a Turing machine M=({q0, g1, g2, g3}, {0, 1}, {0, 1, B}, 6, B, {q3}), where, disa
transition function defined as (g0, 0) = (gl, 0, R), d&(gl, 1) = (g2, 1, R), &(g2, 0)
=(q2, 0, R) 8(q2, 1) = (g3, 1, R). The language accepted by the Turing machine is given
as :

Options :

L 010*1

, % 00%1

3 % 0101

, % 010%
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which data structure in a compiler is used for managing information about variables and
their attributes ?

Options :
| % Abstract syntax tree

, % Semantic stack

3 Symbol table



4 % Parse table

Question Number : 52 Question Id : 59345215299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

If the grammar G has the following productions : S — aBIbA, A — aSIbAA la, B —
bS1aBB I b, then :
Options :

| % L{G) is finite.

, % aabe L(G).
5 % LG) has some strings of odd length.

4 L(G) has some strings of even length.
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None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question



The context free grammar given by :
S — ABA,

A — aAlbAle,

B — bbb.

The language generated by this grammar is given by regular expression :
Options :

| % (a+b)*bbb

(a+b)*(bbb) (a+b)*
2. %
abbb(a+h)*
#

. (a+b) (bbb) (a+b)*
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question



Consider the following languages :

L1: {a"b'c'd® Ipg=r+s, where, p, q. 1, s = 0}

L2: {a'b'cd’ p=qand r=s, where, p, g, 1, s = 0}
L3: {a'b'c'd®Ip=q=randr=s, where, p,q, 1, s = 0}
L4 {a'b'c'd® Ip+r=q+s, where, p, q. 1, s 20}

Which of the above languages are context free ?
Options :
| ® L1 and L2 only

) % L1 and L3 only

3 o L2 and L4 only

L% L2 and L3 only
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Question Label : Multiple Choice Question

Let G=({S}, {a, b}, P, S) be a context free grammar where the ruleset Pis S — aSb 1SS | ¢,
then :

Options :

| % G is not ambiguous



) % There exist x, y = L(G) such that xy £ L(G)

3 % There is a Deterministic finite automata that accepts L(G)

4 There is a Deterministic push down automata that accepts L(G)
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

For LR(0) automaton, consider the augmented grammar :
E'— E E—-E+TIT T — T*FIF F — (E)lid

If 1 is the set of two items {E — T., T — T.*F}, then GOTO (/, *) contains the items :
Options :
L& T— T*F F—.(E), F— .id

» % T— T*F F— (.E), F—.id

3 % T— T*F F— (E)., F—id.

T — T*F,F — (B),, F—id.
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Question Label : Multiple Choice Question
The SLR parser for a grammar G has N1 states and the LALR parser for the same
ecrammar ( has N2 states then :

Options :

| x NI<N2

, ¢ NI=N2

;% NI>N2

_ None of three
4. %

Question Number : 58 Question Id : 59345215305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Which of the following is the most powerful parsing method ?
Options :

L% LL(1)

, » SLR

3 Canonical LR

, » LALR
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

For § — CC, C— aC, C — d, the grammar is :

Options :
| LALR(1) but not SLR(1)

5 % LL()
3 % SLR(1) but not LL(1)

4 % LR(1) but not LALR(1)
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The production rules S — aB | bA, A — a laS | bAA, B — b | bS | aBB, generates strings
of terminals that have :
Options :

_ odd number of a's and b's

) % even number of a's and b's

5 % notequal number of a's and b's



v equal number of a's and b's

Question Number : 61 Question Id : 59345215308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Consider the minterm list form of a Boolean function F given below :
F(A, B, C,D)=YXm(0,2,5.,7,9, 11) + £d(3, 8, 10, 12, 14).

Here, m denotes a minterm and 4 denotes don't care term. The number of essential prime
implicants of the function F is :

Options :
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question



The base of the number system such that 312/20= 13.1 hold is :

Options :

1.45
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Consider a 4 to 1 multiplexer with two select lines S, and S,

0
1 4-t0-1
3 Multiplexer F
R—3 .
B &
P Q
The sum-of-products form of the Boolean expression for the output F of the multiplexer
18
Options :

| % P'Q+POR +PQR + PQR



) P'QO+ QR + PO'R

3 % P'OR + POR'+ OR"+ PO'R

POR’

4. %
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None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

If P, Q. R are Boolean variables, then (P + Q"W PQ'+ PR)(P'R' + (') simplifies :
Options :
PR

1. =

PO +R

2.% =

3.¢ Po

, % PR+Q
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question



The wrong statement/s regarding interrupts and subroutines among the following is/are :
I.  The sub-routine and interrupts have a return statement

II. Both of them alter the content of the PC

III. Both are software oriented

IV. Both can be initiated by the user
Options :

- [l and IV

) % IT and III

L x IV

4 I and IV
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Consider an instruction pipeline with five stages without any branch prediction : Fetch
Instruction (FI), Decode Instruction (DI), Fetch Operand (FO), Execute Instruction (EI)
and Write Operand (WO). The stage delays for FI, DI, FO, EI and WO are 5 ns, 7 ns,
10 ns, 8 ns and 6 ns, respectively. There are intermediate storage buffers after each stage
and the delay of each buffer is 1 ns. A program consisting of 12 instructions I1, 12, I3, ...
112 is executed in this pipelined processor. Instruction 14 is the only branch instruction
and its branch target is 19. If the branch is taken during the execution of this program, the
time (in ns) needed to complete the program is :

Options :

w132



) 165

3 % 176

4 % 328
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None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

A two-word instruction is stored in memory at an address designated by the symbol W.
The address filed of the instruction (stored at W + 1) is designated by the symbol Y. The
operand used during the execution of the instruction is stored at an address symbolized
by Z. What would be the value of Z if relative addressing mode is used.

Options :

L Y+W+12

) % Y +W+1

s x Y+W

4% None of three
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

A digital computer has a memory unit 64K * 16 and a cache memory of 1 K words. The
cache uses direct mapping with a block size of four words. How many bits are there in
tag, index, block and word fields of the address format.

Options :

- Tag = 5, Index = 10, Block = 8, Word = 2
5 % Tag = 6, Index = 11, Block = 8, Word = 2
3 % Tag = 5, Index = 11, Block = 8, Word = 2
4 Tag = 6, Index = 10, Block = 8, Word = 2
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
A RAM chip has a capacity of 1024 words of 8 bits each (1 K x 8). The number of 2 x 4

decoders with enable line needed to construct a 16K x 16 RAM from | K x 8 RAM is:

Options :

I.Wer
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Question Label : Multiple Choice Question

In a 11 bit computer instruction format, the size of the address field is 4 bits. The
computer uses expanding OP code technique and has 5 two-address instructions and 32
one address instructions. The number of zero address instructions it can support is :
Options :

| % 2048
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Question Label : Multiple Choice Question



Consider the following C code :
void main()
{
int i, arr[5] = {25, 30, 35, 40, 45}, *p = arT;
for(i = 0; i<3; i++)
{
printf("%d ", *p++);
p++;
}
}

The output of the above program is :
Options :
| % 253035

5 @ 253545
26 31 36

2636 46
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None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1



Question Label : Multiple Choice Question
Consider the following C code :
main()

{
int arr[8] = {11, 22, 33, 44, 55, 66, 77, 88},

int *p, *q;
q = arr/2;
p=q*2

printf (" %d %d", *p, *q) ;
|

The output of the above program is :
Options :

|y 66132

, % 13266

3 % No output

4 Compile Error

Question Number : 73 Question Id : 59345215320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question



Consider the following C code :
inta=35, b= 10;
main( )
{
int x=20, *ptr=&x;
printf("%d ", *ptr);
changel(ptr) :
printf("%d ", *ptr);
change2(&ptr) ;
printf("%d\n" *ptr)
}
change 1(int *p)
{
p=&a;
}
change2(int **pp)
{
*pp=&by,
}
The output of the above program is :
Options :
| % 201020

5 % 101020

3 202010



1020 20

Question Number : 74 Question Id : 59345215321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Consider the following C code :
main()

{

int i=l, j=I;

for (;j; printf ("%d %d\n",i,j))
j=it<=35;

J

The output of the above program is :
Options :

| % 1213141516 17

) 213141516170

3 % 213141516171

4 % Compile error

Question Number : 75 Question Id : 59345215322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No



Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Consider the following C code :

main()

{
int x, y, Z;
X=y=Z=1;

Z=44+X &&++y &&+47;
printf(" 9%d %d %d\n", X, y, z);
i

The output of the above program is :

Options :

1.4,.—*221

Question Number : 76 Question Id : 59345215323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question



Consider the following C code :
main()

{
int x = 10, y = 100990;

if(x!=y);

printf("%d %d", x, y);

i

The output of the above program is :
Options :

L& 10 10

, % Compile error

% 1001

4 % No output

Question Number : 77 Question Id : 59345215324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question



Consider the following segment of the C program :
#include<stdio.h>
#define SQR(X)(X*X)
int main()
{
int a, b=3;
a= SQR(b + 2);
printf("%d\n", a);
return 0;
i
The output of the above program is :

Options :
| % 25

, o 1

Question Number : 78 Question Id : 59345215325 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question



The height of a binary tree is the maximum number of edges in any root to leaf path. The
maximum number of nodes in a binary tree of height A is :

Options :
h
| % 27 —1
h—1
2. % .2- - ].
fi+1
3. % 2
r-_,.h—l _ 1
4. =

Question Number : 79 Question Id : 59345215326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

In general, in a recursive and non-recursive implementation of a problem (program) :
Options :
Both time and space complexities are better in recursive than in non-recursive
rogram.
L% prog

Time complexity is better in recursive version but space complexity is better in non-
5 % recursive version of the program.

Both time and space complexities are better in non-recursive than in recursive
5  Program.



Space complexity is better in recursive version but time complexity is better in non-
. recursive version of the program.

Question Number : 80 Question Id : 59345215327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Which of the following is/are frue ?

Options :

calloc() allocates the memory and also initializes the allocated memory to zero,
% while memory allocated using malloc() has random data.

5, malloc() and memset() can be used to get the same effect as calloc().

3 ® calloc() takes two arguments, but malloc() takes only 1 argument.

All of three

Question Number : 81 Question Id : 59345215328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question



Consider the following directed graph :

The number of different topological orderings of the vertices of the graph is :
Options :

L 6.0

3.0

Question Number : 82 Question Id : 59345215329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

A circularly linked list is used to represent a queue. A single variable p is used to access
the Queve. To which node should p point such that both operations enQueue and
deQueue can be performed in constant time ?

Options :



L Rear node

5 % Front node

;3 = Not possible with a single pointer

Node next to front
4. %

Question Number : 83 Question Id : 59345215330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Consider the graph given below :

Use Kruskal's algorithm to find a minimal spanning tree for the graph. The List of the
edges of the tree in the order in which they are choosen is ?

(i) AD, AE, AG, GC, GB, BF (i) GC, GB, BF, GA, AD, AE
(iii) GC, AD, GB, GA, BF, AE (iv) AD, AG, GC, AE, GB, BF

Note: For this question, discrepancy 1s found in question/answer. Full

Marks is being awarded to all candidates.
Options :



@

5 (1), (ii)
3. (1), (i1), (111)

4 (111)

Question Number : 84 Question Id : 59345215331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Suppose there are six files Fl, F2, F3, F4, F5, F6 with corresponding sizes 150 KB, 225
KB, 75 KB, 60 KB, 275 KB and 65 KB respectively. The files are to be stored on a
sequential device in such a way that optimizes access time. In what order should the files
be stored ?

Options :

1 % F5, F2, F1, F3, F6, F4

, % F1,F2, F3, F4, F5, F6
3 » F4.F6, F3, F1, 2, F5

, % F6, F5 F4, F3, F2,Fl

Question Number : 85 Question Id : 59345215332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On



Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Let S be an NP-complete problem and R and Q be two other problems not known to be

in NP. R is polynomial time reducible to S and S is polynomial-time reducible to Q.
Which one of the following statements is frue ?

Options :

% R is NP-complete

) () is NP-hard

3 % R is NP-hard

4 % Q is NP-complete

Question Number : 86 Question Id : 59345215333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
The problem 2-SAT and 3-SAT are :
Options :

L% Both in P

) P and NP-complete respectively

3 ® NP-complete and P respectively



4% Undecidable and NP-complete respectively

Question Number : 87 Question Id : 59345215334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The expression 5 — 2 — 3 * 5 — 2 will evaluate to 18, if :
Options :

L% is left associative and * has precedence over —

, % —isright associative and * has precedence over —

3 & is right associative and — has precedence over *

L8 is left associative and — has precedence over *

Question Number : 88 Question Id : 59345215335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Consider a hash table of size seven, with starting index zero and a hash function (3x + 4)
mod7. Assuming the hash table is initially empty, which of the following is the contents
of the table when the sequence 1, 3, 8, 10 is inserted into the table using closed hashing ?
Note that '_' denotes an empty location in the table.

Options :



| &8 S—o—— e
5o L&10, .3
3 ® .
4'%.3],]113___3

Question Number : 89 Question Id : 59345215336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Consider a system having m resources of the same type. These resources are shared by 3
processes A, B and C which have peak demands of 3, 4 and 6 respectively. For what
value of m deadlock will not occur ?

Options :

v 13

Question Number : 90 Question Id : 59345215337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On



Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

If the disk head is located initially at 32, find the number of disk moves required with
FCFS if the disk queue of I/O blocks requests are 98, 37, 14, 124, 65, 67.

Options :

L% 239

) % 310

3 % 325

29
4. e

Question Number : 91 Question Id : 59345215338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Page fault frequency in an operating system is reduced when the :
Options :
| w processes tend to be of an equal ratio of the I/O-bound and CPU-bound

5 % size of pages is increased

3 locality of reference is applicable to the process



L% processes tend to be CPU-bound

Question Number : 92 Question Id : 59345215339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Which of the following is an example of a spooled device ?
Options :

_ The terminal used to input data for a program being executed

) % The Secondary memory device in a virtual memory system

3 A line printer used to print the output of a number of Jobs

4 % None of three

Question Number : 93 Question Id : 59345215340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Consider three CPU-intensive processes, which require 10, 20 and 30 time units and
arrive at times 0, 2 and 6, respectively. How many context switches are needed if the
operating system implements a shortest remaining time first scheduling algorithm ? Do
not count the context switches at time zero and at the end.

Options :



Question Number : 94 Question Id : 59345215341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Let (X, <) be POSET, where X = {2, 3, 6, 12, 24, 36} and relation < is defined as :

x<y={(x,y):xdivides y}. The upper bound of {2, 3} is:

Options :
| % {3, 6,12, 24, 36}
) 16,12, 24, 36}

3 % 12,6, 12,24, 36}

4 % (2.3,6,12,24,36)

Question Number : 95 Question Id : 59345215342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1



Question Label : Multiple Choice Question
Negation of P — Q is:
Options :

x QP
2.8 P—0

3.8 P—0

4 QP

Question Number : 96 Question Id : 59345215343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Sutherland-Hodgeman clipping is anexample of ............. algorithm.
Options :
L polygon clipping

) % line clipping

3 % text clipping

4 ® curve clipping

Question Number : 97 Question Id : 59345215344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On



Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

A channel has a bit rate of 4 kbps and one-way propagation delay of 20 ms. The channel
uses stop and wait protocol. The transmission time of the acknowledgement frame is
negligible. To get a channel efficiency of at least 50%, the minimum frame size should

be :

Options :

| % B80bytes

, % 80 bits
3 % 160 bytes

4 160 bits

Question Number : 98 Question Id : 59345215345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Let fix) = x> —x + 1 and xp= 1, then the value of x after first iteration, x;, in Newton-
Raphson method is :

Note: For this question, discrepancy is found in question/answer. Full

Marks 1s being awarded to all candidates.
Options :

1 12



Question Number : 99 Question Id : 59345215346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Let G = (V, E) be a graph with IV | > 1. If chromatic number of graph is 1 then the total
number of edges in the graph is :

Options :

v 0

© nin—1)y2

n

Question Number : 100 Question Id : 59345215347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question



Two coin are tossed. Let A denote the event "at most one head on the two tosses" and let
B denote the event "one head and one tail in both tosses". Among the following which
statement is frue ?

Options :

| % A and B are mutually exclusive event

, % AandB are independent event

3« A and B are not independent event

4% A and B are mutually exclusive as well as independent event



